Havis, Inc.

75 Jacksonville Road
Warminster, PA 18974
S . 800-524-9900 F 215-957-0729
Productivity in motion www.havis.com

INSTALLATION INSTRUCTIONS

CBR-TAH-1 Cargo barrier for 2021-2022 Chevy Tahoe PPV
Requires C-TTP-TAH-103 trunk tray and C-SBX-101 storage box (sold separately)
OR
Requires C-TTP-TAH-105 trunk tray and SBX-1000 series drawer and SBX-4010 (sold separately)

TOOLS REQUIRED:
Standard socket set 7/16” Open-end wrench Screwdriver set

PARTS and MOUNTING HARDWARE:

QTY DESCRIPTION PART#
1 Center Top panel 24977
1 Center bottom panel 24978
1 Driver side wing (clear polycarbonate) 24979
1 Passenger side wing (clear polycarbonate) 24980
4 Mount bracket 24981
2 Side Brace 25144
20 1/4" Serrated nut 16013
23 1/4” x 3/4" Carriage bolt 16223

CBR-TAH-1 INSTALLATION:
1. Prior to placing Cargo Barrier into vehicle, install C-TTP-TAH-103 trunk tray and C-SBX-101
storage box OR C-TTP-TAH-105 trunk tray, SBX-1000 series drawer and SBX-4010 connector kit.

2A. C-SBX-101 application:
- Remove all 1/4” x 1/2" carriage bolts in C-SBX-101 back panel except for top center bolt.
- Place CBR-TAH-1 center bottom panel into vehicle through side door and attach to back of
box with 1/4” x 3/4" carriage bolt bolts and previously removed nuts.

2B. SBX-1000 application:
- Attach mount brackets to CBR-TAH-1 center bottom panel using 1/4" nuts.
- Place CBR-TAH-1 center bottom panel assembly into vehicle through side door and attach to
sides of drawer extrusions with SBX-4010 hardware.

3. For Both Applications:
- Loosely attach bottom panel, top panel, side brace’s and side wings together using 1/4" x
3/4” carriage bolts and nuts.

4. Tighten all hardware.

Always!
» Read all instructions before installing any Havis, Inc. products.

» Use hardware provided with install kit



Havis, Inc.
75 Jacksonville Road
Warminster, PA 18974
0-524-9900 F 215-957-0729
Productiv v.havis.com

CBR-TAH-1 24980
Assembly
24979
24978
25144 2 24981
(One each side) i (Two each side)

CBR-TAH-1 with C-TTP-TAH-103 and C-SBX-101 Installation complete.

CBR-TAH-1_INST_4-22



